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Question: 1 

The largest item of expenditure in the current account 

of Central Government budget is 

(A) Expenditure on Social Services 

(B) Interest Payments 

(C) Defence Expenditure 

(D) Subsidies 

Ans: B 

Interest Payments 

Question: 2 

Who is known as Lok Nayak? 

(A) Bal Gangadhar Tilak 

(B) Subhash Chandra Bose 

(C) Mahatma Gandhi 

(D) Jai Prakash Narayan 

Ans: D 

Jai Prakash Narayan 

Question: 3 

Cash reserve ratio and open market operations are 

instruments of 



(A) Budgetary policy 

(B) Monetary policy 

(C) Trade policy 

(D) Fiscal policy 

Ans: B 

Monetary policy 

Question: 4 

One rupee note in India is signed by 

(A) Secretary, Commerce Ministry  

(B) Secretary, Finance Ministry 

(C) Union Finance Minister 

(D) RBI Governor 

Ans: B 

Secretary, Finance Ministry 

Question: 5 

The total number of National Highways is 

(A) 220 

(B) 330 

(C) 440 

(D) 540 

Ans: A 

220 



Question: 6 

SDR is the currency of IMF which is in the form of 

(A) Book keeping entry only 

(B) Silver and gold both 

(C) Gold 

(D) Paper currency 

Ans: A 

Book keeping entry only 

Question: 7 

As many as fourteen bank were nationalised by Indira 

Gandhi government on 

(A) July 15 1985 

(B) July 19 1969 

(C) July 20 1982 

(D) July 18 1981  

Ans: B 

July 19 1969 

Question: 8 

What are the “Open Market Operations”? 

(A) Sale of shares by FIIs 

(B) Selling of gilt edged securities by the government 

(C) Selling of currency by the RBI 



(D) Activities of SEBI registered brokers 

Ans: B 

Selling of gilt edged securities by the government 

Question: 9 

The difference between the GNP and NNP is equal to 

(A) Capital depreciation 

(B) Direct tax revenue 

(C) Indirect tax revenue 

(D) None of the above 

Ans: A 

Capital depreciation 

Question: 10 

Which country is not a member of SAARC? 

(A) Bangladesh 

(B) India 

(C) Myanmar 

(D) Pakistan 

Ans: D 

Pakistan 

 


